Al £ 0 & AFESE & M M

20149 = =20l &t 2Bk

SN Qe
HM: QAANHIA HA(LHBTDHE/YLHE)
chel: EEH0 oAy SRk
NSl (BIH) - NIRAY - B ES ﬁii
BIR D 1,487,222 1,219,594 267,628
= 503,920
= 138,624
z 844,678
QIRMHIA SA(LeSDE 113,024 77,647 35,377
= 15,600
z 97,424
E8X0 QlaAHY 108,024 72,647 35,377
= 15,600
z 92,424
Bl 21 Al B 92,424 57,047 35,377
101 Q1 24l 12,363 11,986 377
04 JIAH2ERSE 4 12,363 11,986 377
OplfoHE 20 2= 12,213
-J=z 41,6809 +19 %2002 8,336
—-F54y 41,6808 19 +452 1,876
—oAx e 41,6808 x 19+ 12 501
-g8z 10,713,000 *14% 1,500
OfI® Y E L0 I = 1500002 *12 +13] 150
201 LBt A 25,401 27,701 £2,300
01 AtR 221 | 11,884 14,184 A2,300
o3zt 700
—QRYL T A 7.,000% 2% +502 700
Of1es as4y 2,520
e EL- I L 70,0008 1% 43| 280
—HE2H A3 70,0008 +3% *43] 840
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SN e
HE: QAN A HA(LBISHE/UBHT)
chelr 30 oAME (o9& @
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
-e4+32d 700
- 18 300,000& *14 300
2S 200,000& 1 200
- 38 100,000& 2 200
— =AM 900
- 1S 300,000& 101 2 A 300
28 200, 0003 *2JH 2 M 400
3s 100, 000& *2JH4 2 M 200
OMESRY 2 700
-1 300,000 x1H %13 300
— 25 200,000& x1H * 13| 200
— 3 100, 000& »2H » 13| 200
405 X+H&HE S HI 40,000 0 40,000
01 MR ESHSHI 40,000 0 40,000
Ozl +4 20,000, 000& *2CH 40,000
HAEPR =2 15,600 15,600 0
= 15,600
101 I24H] 12,689 11,836 853
= 12,689
4 JI12ZtH 22 S8+ 12,689 11,836 853
O=HIEZ AL 12,689
—HALSYREX 12,689
s 41,6803 x 1 %200 8,336
= 8,336
TR 41,6803 x 1«52 2,168
= 2,168
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SN A
BN 5880 EX SHBR(YUDDUNY/BHE)
Crel: gtes MR B R
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
s 454,754
25 et XA 2te| 765,665 586,650 179,015
= 400,000
= 80,000
= 285,665
KN HQIA 22| Ab Y 26,875 26,120 755
101 @1 24H| 24,425 23,670 755
04 JI2HHZ2Z2 RS ES 24,425 23,670 755
OXE HEZE g2, E2HF=AAMY 24,425
—Jl=2s 41,6803 x2H 200! 16,672
— =54 41,680 x2H x45 3,752
—Axtsg 41,680 x2H x12 1,001
—BE= 10,713,000& 2H »14% 3,000
201 L Er2F I 2,450 2,450 0
01 At 22l 2,450 2,450 0
OXNEZFZ A2 2,450
—HEsgLs MEN R 1502 +7,0000H 1,050
—EXoIEAHE = MEN RO 200& *7,00004 1,400
SIZEXNEEBAAE(KLIS) X242 34,767 34,767 0
201 LEr2F | 34,767 34,767 0
01 At 2teltl 34,767 34,767 0
OS=2EXNTFBANAEH(KLIS) RAE =+ 34,767
— otESN 218,000,000 *8% 17,440
—AZEZ 0 17,327
- GISOI & (ArcSDE) 21 338 144,383, 731& *12% 17,327




Sk
X ZH -
=1

el

2
80 EX ST (LBNIIYY/LBIHUT)
s K=l

=] X XH ol (5 (=] (oz] =2 OH HAL = D}

NE=E JIE&8 ZHlAY 7,126 6,967 159

101 @1 24 4| 2,376 2,217 159

04 JI24HZ22REsSE+ 2,376 2,217 159
O=IINEE ZAEBZH 22 2,376
—Jlzs 41,6803 x1& x50 2,084
—gE8= 2,084,000 12 «14% 292

201 L Et2g | 4,750 4,750 0

01 AR 2teltl 4,750 4,750 0
ONHEYIIES THAY (52442 S) 4,750
—NEEZ2E 83,000& «30& 2,490
— X & &2tH (GPS) 452,000 «5F 2,260

AEHH 2t 5,910 5,910 0

201 L Et2g | 4,470 4,470 0

01 At 2eltl 4,470 4,470 0
OEXOlsS MEAN 2 45 oM 2003 *1,50004 x5 1,500
OEXOls Z2AM 2 583 EHX #+¢ 2,700& x1000H *55& 1,350
OXNAMA L0ty HAESR F 50,000& x2&+ 128 1,200
SRENZERAE: 4 =€ 70,000 6 13l 420

202 044l 1,440 1,440 0

01 =W HI 1,440 1,440 0
OXNEZRY /3 & Mot 24 60,000 «6H *43] 1,440

KotAld S H&tetALY 677,724 500,000 177,724
= 400,000
= 80,000
= 197,724




SNSRI
HM: 5ENO EX SV (LUDIUH/AUHE)
Sol: e E NN e EER-E))
= = & E
SH-EH .S (3) - NBAY - BAS 0f Ak o 0];& HD= 2
207 & PIH 677,724 500,000 177,724
= 400,000
= 80,000
= 197,724
02 & A | 677,724 500,000 177,724
CETEEINX=" 677,724
—SEZXGHAIES ® ArskAHE (80K) 677,724,000%! 677,724
= 400,000
= 80,000
= 197,724
2sa ze 13,263 12,886 377
101 @1 24| 12,213 11,836 377
04 JIAH2ERS R 4 12,213 11,836 377
O =S ol 12,213
-3 41,6802 * 1% x200L 8,336
—-=549 41,6802 * 1% x452 1,876
— AR Ay 41,6802 #1212 501
-28g 10,713,002 * 14% 1,500
201 22| 1,050 1,050 0
NEEEI] 1,050 1,050 0
O B4 WL 22, NE Sl 7,000 x22+75L 1,050
NHBE HASAL 44,776 26,510 18,266
NHBE ®MAs ALY 2= 20,420 20,420 0
201 L2 | 7,920 7,920 0
01 Ak 22l 7,920 7,920 0




SM: D
u: 58N0 €
X X

- |
SRl AHSE dasAY

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2

OXNEBHTMZASE 2 AlAE S22 144,000, 0002 *5%=*1. 1 7,920

207 A o4 2l 12,500 12,500 0

02 ™ &I 12,500 12,500 0
OXNBESRHLSIAIAE RS 12,500
—EXo=sZAAM 500& *7,00004 3,500
—S¥ZnE 6,000& *1,50004 9,000

INSANEE SSHAHA 7= 24,356 6,090 18,266

201 L Et2FH| 24,356 6,090 18,266

01 At 2teltl 24,356 6,090 18,266
O INSUEFEANL2E RANES 24,356
—otESIN 28,065,000 *8% 2,246
—A2TEQN 184,250, 000& *12% 22,110

C2YHYASHSER 132,783 145,172 A 12,389
= 12,000
< 10,000
= 110,783

CEREIANSHSESAY 12,000 12,000 0
= 12,000

401 AIEBIZL 2018l 12,000 12,000 0
= 12,000

01 Al & HI 12,000 12,000 0
O=HIEZ AL 12,000
-2 A 2HHAIEE EX & RXES 400,000 *304 12,000
= 12,000

CERHYASHSESAMAE(ZH]) 10,000 12,500 A 2,500
= 10,000




SN e
A 2280 EX T2 (L3 d#HY /LBl H)
SR SR HYASHSEE (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
401 Al & HI 2 2 0H 8] 10,000 12,500 A 2,500
= 10,000
01 Al & HI 10,000 12,500 A 2,500
OZHIEZAY 10,000
—SE2gE AX(10014) € RAE=(8I2L) 10,000,000 10,000
= 10,000
CE2HEFAINMNY 110,783 120,672 A9,889
201 L Et2 | 30,290 37,810 AT,520
01 At 22l 29,290 36,810 27,520
OSZYEFA(HENTHSIHANAH) OHUHE RSB+ 5,000
— =&, g2, 0td, oo, M& oA 100,000 *500 &+ 10 5,000
OE2g=4 828 M 21,560
—S2=EE NFE 2,000& x5,00001 x2& 20,000
— 8= 60,000& 130 A %23] 1,560
OZ2HFA s &4 ¢ 70,000 x6H x4 3| 1,680
OS2 =LA =4I 7,000 «3% x50 1,050
02 3523l 1,000 1,000 0
O1DXeHHEZ 2SI 2,000& =500 CH 1,000
202 O Hl 3,000 3,000 0
01 =W HI 3,000 3,000 0
OEZ2HF=AAY EHXZA 20,0003 x3H 50! 3,000
206 1 2 4l 1,000 1,000 0
01 M =4l 1,000 1,000 0
OH=BsE 23 M=l 10,0003 = 1004 1,000




SN 0D
A 2280 EX T2 (L3 d#HY /LBl H)
o9 CEHYASHSEE (69 &2
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
401 AIEHIZ =201l 68,000 68,000 0
01 Al & HI 68,000 68,000 0
OS2 J0H.4X 500,000 =104 5,000
OA=BsE A0.&EX 10,000& *1,000H 10,000
O ANEE RAE> EY 30,000,000& 30,000
OXNEg vE88sH 8X(2%) 5,000,000% 101 2 5,000
O HISAAH LI (=5H) 10,000, 0002 *1JH & 10,000
ORXSetLfEr sXI, 2l 800,000 =109 £ 8,000
403 XXM S X201 8,493 5,862 2,631
02 BII 2SO0l CHEHCH & ALS HI 8,493 5,862 2,631
O2NFLFBAAH(KAIS) RXE= 7,662
—GIS AT S/W RXE=+ 1,862,000& 1,862
—KAIS 2FXI& 5,800,000& 5,800
O =A2J|2 8dsAY 831
—S2gFA0|2k st 831,000& 831
S =X 2e 13,530 13,530 0
Eg=sNESX HESH ZH| 13,530 13,530 0
201 L Et2gH| 5,910 5,910 0
01 At 2teltl 5,910 5,910 0
Os&2s MA 60,0003 * 1501 2= 43| 3,600
Os8sil &= Sl 7,000 6% «55¢ 2,310
202 O Hl 2,620 2,620 0
01 =W HI 2,620 2,620 0
SYUsXNEE Al.22t WXE=S 60,000 «3& x99 1,620
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SN oD
Hu: OlEED HES A28 ZHA(FEYXNAML/NSLEA)
Cel OIS0 FHSE ZHAIY (el @@
% = PSRE]
SN -HM . (3H) - HEALY - HES Off &F 4 ‘Oﬂ,‘qﬁ Hwsz2

ZYOIE ASS NSHEY 48,760 50,000 A 1,240
& 14,628
= 34,132

402 QIAT 20| H 48,760 50,000 A1,240
= 14,628
2 34,132

01 L2 EEE 48,760 50,000 A 1,240
OSHIE XA Y 48,760
—2H0IE ASS NSHBAY 2,120,000 x235 48,760
& 14,628
= 34,132

SHoEXE BAEY 10,000 10,000 0
= 3,000
= 7,000

402 QAT 20| F 10,000 10,000 0
= 3,000
= 7,000

01 U2 EEE 10,000 10,000 0
OSHIE XA 10,000
—2HOIENS VT H 500,0002! *20S 10,000
= 3,000
2 7,000

S0IE Mal(ZH) Y 152,640 72,000 80,640
= 76,320
= 22,896
2 53,424

403 T XISHH S X0l A 152,640 72,000 80,640
- 76,320
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SN eI
MM OlSED HEE AZ2s ZL(TEYNANL/XNAY
Cel: ASHA =g (ctol: &2
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
01 At 22l 3,580 3,580 0
Ogaspasgsn 2% S| 7,000% %28 %1702 2,380
Os=2E M= £x 60,0002 *20 7 A 1,200
202 01t 3,520 3,520 0
01 ZLHot I 3,520 3,520 0
OASZS 29 N L o= 20,0008 2% x40 1,600
OAZT2Y Y3s L AL &4 60,0008 82 x4 1,920
B S (IR D) (JIEH/IIEH) 107,784 110,825 A3,041
o= 107,784 110,825 A 3,041
o= Bl 107,784 110,825 A 3,041
201 Y2 | 51,744 53,750 ~2,006
01 At 22l 51,744 53,750 £2,006
ORNEY 1,831,000% %24 43,944
Oz 4,200
—sanal 7,0002 %24 x252 4,200
ODE=AD YR2 150, 0002 *2CH * 122 3,600
202 01t 51,840 52,875 ~1,035
01 2Lhot bl 51,840 52,875 A 1,035
OZtLHo1 I 120,000% *24% * 128 34,560
Ot eloi 80,0008 242 92 17,280
203 Y RFE T H] 4,200 4,200 0
04 ENSY YRR 4,200 4,200 0
ORMEgYRETY| 350,0002 * 12 4,200




